Slide 48:  Logic Model Example
Going to the Doctor with a Sick Child Logic Model
Situation:It is January and a parent has a very sick 6-year old.  Child is running a high fever, is sleepy, not eating, vomiting,has difficulty breathing and a sore throat.  Parent has a set of three-year old twins at home as well.  Both parents work full-time.
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	Inputs
	
	Outputs
	
	Outcomes – Impact

	
	
	Activities
	Participation
	
	Short
	Medium
	Long

	What we invest or put in…

· Time
· Patience
· Car
· Medical Insurance
· Co-payments
· Medications
· Time off from work





	
	What we do ….


· Make appointment
· Prepare child
· Call school to let them know child will be absent
· Find someone to watch other children
· Go to pharmacy or drug store
· Call employer



	Who we reach …


· Children
· School
· Receptionist
· Doctor
· Nurse
· Other patients in waiting room
· Neighbor
· Pharmacist
· Employer


	
	What the short term results are….

· Examination
· Feeling relieved
· Feeling worried
· Screaming
· X-rays
· Bloodwork done

	What the medium term results are….

· Tests reveal infection
· Medication given
· Need to keep child home
· One parent must stay home with child for the next two days
	What the ultimate impact is….

· Medication makes child feel better.
· Child is back in school.



	Assumptions
	
	External Factors

	Parent can get off of work to take child to doctor
Parent can find someone to watch younger children
Parent can afford to go to the doctor and afford medication
	
	Doctor will be able to determine what’s wrong.
Traffic to the doctor will be good and not delay.
Weather
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